HSSC Group-D ...10 Nov 2018 (Morning)
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¥ Bhagavﬂ
= comp"ed by
(A) Shankaracharya (B) Madvacharya

(C) Veda Vyasa (D) Vallabhacharya

2. Whatis the nature of the image formed due 2.

to concave mirror when object is placed
beyond centre of curvature ?

(A) Real and inverted

(B) Virtual and erect

(C) Real and erect

(D) Virtual and inverted

3. During heavy exercise, we get cramps in 3.

the legs due to the accumulation of
(A) Carbon dioxide (B) Lactic acid
(C) Alcohol (D) Water

4. Sodium hydrogencarbonate on heating 4,

produces

(A) Sodium hydroxide
- (B) Sodium oxide

(C) Sodium carbonate

(D) Sodium

5. The land cultivated by Kurus was called as 5.

(A) Bahudhanyaka (B) Adiroopa

(C) Prajotpathi (D) Angeerasa
6. An instrument for measuring the speed of 6.
wind is

(A) Odometer
(B) Speedometer
(C) Anemometer
(D) Barometer

7. After Gupta dynasty, in the middle of 7

Sixth Century AD, established
supremacy over Punjab.

(A) Pallavas

(B) Guijarat

(C) Kadambas

(D) Huns

d Gita was said to have been 1.
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12.
13.
14.
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the number which jg
mong the options,
A) 1001
(C) 1010

not like the other

(B) 1100
(D) 1119

g, Haryanais the first sia40 to launch
(A) Satellite
(B) Mabila Police Volunteer
(C) Kissan Budget
(D) Aryabhat

10. Consider the following with reference to the

term “Sovereign State”

) A.coumry can be a sovereign with or
Without dominion of any other nation

(B) Sovereignty is compromised while
getting membership in the UNO

(C) Both are right
(D) None

Solutions of the equation
V5x? —8x + 35 = 0 are

(A) Jg% (B) 5,3
(C) V5,3V5 (D) 4,2

Prabhakara Vardhana, the first king of
Vardhana dynasty was the ruler of

(A) Thanesar (B) Kurukshetra
(C) Geeta Vardhana (D) Patna

Which of the following Article provides that,
‘The State shall not discriminate against

any citizen on grounds only of religion, race,
caste, sex, place of birth or any of them’ ?
(A) 13 (B) 14
(C) 15 (D) 16

Governor acts as the nominal head and the real
power of administration of the state lies with

(A) Prime Minister (B) President

(C) Chief Minister (D) People

10.

11.

12

13.

14.
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el 81
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3

(A) Jg.ﬁ (B) 5,3

(@) 5,3/5 (D) 4,2
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(A) oUmET (B) FwaE

(¢) T Tt (D) 9T
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4/2018 ( )E. _on be coded as ‘34" then “TWO

‘ON

15 é;,-, be coded as
(A) 50 (B) 48
(C) 58 (D) 68

16. A current of 0.5 A is drawn by a filament
of an electric bulb for 20 minutes, find the
amount of electric charge that flows through
the circuit.

(A) 300 Coulomb
(B) 600 Coulomb
(C) 2400 Coulomb
(D) 20 Coulomb

17. Readthe following statements with reference
to features of Kashmir Himalayas.
i. They are famous for Karewa formations.
ii. Karewas are the thick deposits
of glacial clay and other materials
embedded with moraines.
iii. They are useful for the cultivation of
Zaffran.
iv. Srinagar, the capital city of the state
of Jammu and Kashmir is located on
the banks of Jhelum River.

Select the answer code :
(A) i, iiand iii
(C) all the above

(D) iii and iv only

18. All
(A) lIsosceles
(B) Equilateral
(C) Obtuse angled
(D) Right angled

triangles are similar.

19. In2016-17, Haryana GSDP is growing at
(A) 6.7 percent
(B) 7.6 percent

(C) 8.7 percent

(D) 10 percent

15. ;I;én'ONE' F Fz 94 b ?PtTrFWO' =1 F2

(A) 50
(C) s8 :g; ‘;3
16. U e 703 3 w5 s gy 20 A T o0
@Eﬁaﬁﬁﬁﬁmmﬁﬁ
A T amam oy e 7@
(A) 300 Fer=
(B) 600 et
(@) 2400 Fera
(D) 20 Fer=
17, Frefufias wat w1 S e -
fareramadt & gedf ufeT |
i 3 a % e R R
i, FRar R e i F A wed
377 wel] 1 T ST R
i, 3 FH U F fuIwEr R |
iv. SR, ST TR T St TSt e
HFrmuEEe|

I g I :
(A) i, i ST jii
(C) 3@ |t (D) i 3 iv A

18. @+ e aErER § )
(A) FHfgaTg

(B) wwHaTg
(C) it

(D) w9

19. 2016-17%, sh@mn GSDP _
WG @/l R

(A) 6.7 vfavm
(B)' 7.6 i
(C) 8.7ufwm
(D) 10 S
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Illlﬂm HELS not Inciugg a“i.:\hdaout e
8 oods. |
2 Gty 28I { the following
i/ odities out ©
T comm
non-GS
ficulars. '
pai High speed diesel -
ii' Aviation Turbine Fuel (A

iii. Petroleum crude
jv. Motor spirit or petrol
v. Natural gas

i r given below :
Choose the right answer given
(A i and iii (B) fi,jiiand v
(€) i, iiiand iv (D) Allthe above

The equations ax + 9y = 1land9y—x_1 =0
represent the same lineifa=

(A) 1 (B) -1
(C) 9 (D) None of these

21.

Consider the following :
1. Sambhar lake is a salt lake.
2. Chilka lake is a fresh water lake.

3. Vembanad lake is a back water lake.

Which of the above is /are correct ?

(A) 1and2 (B) 1and3
(C) Alitheabove (D) 3only

23. If mcot A =n, then the value of
msinA-ncos A =
ncosA +msinA
2
(A) ﬂz +m
n-m

m? =i

m? —n?

n® -m?

(B)

©)

(D) m+%

24,

Haryana is situated between ,I

(A) 27°37' 10 30° 35' North latitude
(B) 37°37' to 30° 35' North latitude
- (C 47° 37" to 30° 35' North latitude

20. STE® avft s

21.

22,

24,

4/2018 (1) (M10)

Ieqd i

T B Fraferfas oo & c-shoed) awh
Tt T e

i. 3= e

il. 3G TATEH UM (ATF)

i, == Y feram

iv. T fafe @ e

v. Wihtas g

ﬁﬁmwuﬁmﬁﬁq:

(A) i, ii 3T jii (B) i, iii 3 v

©) iii,ii v (D) T ah

T ax + 9y =1 3R 9y —x -1 = 0 THH
Wﬁiﬂﬁ%ﬁa=
(A) 1

C) 9

B -1
(D) 7§ = T

Frafaftas o femm =t

1. g i arfia 2w 2 |

2. Toem oftet e urft St 3 R
3. d991E A I o W 21

I U Y FHA-TTTE R ?

(A) 132 (B) 133

(©) 3% ashi (D) Faw 3

af& mcot A=n, Gt MSINA-NCOSA

TR ncosA +msinA

A n® +m? "{z_

W T ® T-r
m? —n? 2

C

G Ly —

B

(A) 27°37' & 30° 35' Il &
(B) 37°37' & 30° 35 Il A&
(C) 47° 37 & 30° 35' Iati HEW
(D) 57°37" & 30° 35' I A&

‘
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h ing Britis arts, i.€.

among t
i :mged Indian historY .u.n'o‘ zhree p
Hindu, Muslim

A) JamGSMi"

(B) Warren Hastings
(©) Sir Thomas Smith
(D) Annie Besant

boys and girls on the
e number of boys was
r of girls. He gave

~ Aman invited some
birthday of his son. Th

2 less than the numbe \
Rs. 10 to each boy and Rs. 20 to each girl.

If the total amount distributed by him was
Rs. 280, the number of boys was

(A) 25 (B) 10

(C) 8 (D) 15

27. Two coins are tossed simultaneously. The
probability of getting exactly two head is

- ® )2

© ) o J

28. Three cubes each of side 5 cm are joined
z:;c;send. The surface area of the resulting
(A) 15cm?
(B) 175em?
(C) 350 cm?
(D) none of these

29. Rabi crops are Sown at the end of

A
(A) October (B) November
(C) December (D) Janua
ry
30 The.gma Nobg| Prize i

(A) Michae| W. Youn
(B) Tasuky Honjo ;
(®)] Michag| Rosbash
(D) Jeffrey o, Hall

J

25.

26.

27.

28,

29,

30.

LTI
|
v ﬁﬁﬁaﬁ‘fmﬁq%.“l.n
o

g i Hey 80 %,
b 25 (B) '10

(€) 8 ©) 15

3 =i =y

e R NG
(A) 1 ® %

© % o Y

5 T s Sy

? mﬂmmﬁmaq;ﬁrqa;‘j:%mamw
(A) 15cm?

(B) 175 cm?

(C) 350 cm?

(D) 3 ¥ =rd 7

i i wae '
el | _ FomAa
(A) 3Fefeer (B) @R

(C) feuer (D) Sl
fafdrean a1 afweht & & =1 2018 T A
TSR e

(A) WTEHS Bocg, AT

(B) g TSt

(C) firdw T

(D) < . gt
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31. If p* - 6p + 7 is divided by p — 1, the

: _ 31. afEp?—6p + 7 p—1 A Fwiam frm s
remainder will be 2, 91 99 B
(A) Positive (A) =HFTHSH
(B) Zero (B) A
(C) Negative (C) =wucH=h
(D) None of these (D) T & Fr§ 7
32. The most important distinguished feature | 32, TR % T &g 6 gatfes i six
of the Federal form of government is eyl foadiyar @
Havi .
(A) S;\tf;ng Supreme Court in each (A) e T 1 wates e
(B) Having two citizenship, one at the (8) & ATTTERATd, ﬁm, TFH *Z TER 3t
Central Govt. and another at the State o T T fy
Gowt. X ;
(C) Distribution of executive powers (© %3 3i H e
equally between Centre and States o eam
(D) State govemments vested with the power (D) T T i 4
of seceding from the union or federal o

THTCHS ST
U B Y i 2 :

33. If'a'means‘+', b’ means ', ‘¢’ means ‘< and 33. IR
43 e ) : . a’' =1 '+ b 8
dmeansxihan,25c5d8b10a15:= > s

i ,'C Sl 31‘& S
by M 3 ey 25c5d8b10ats5=
(B) 40 (A) 55 (B) 40
ke 4 ©) 44 ©) 45
34. 5 years ago, father's age was 5 ti
olc! as his sonand after 3 years, h:n\:':‘lal Ei % ?ﬂaﬁ ‘g&ﬁm . NI W 5
3times as old as his son. Find the present > S TN I v <y T T 1 371 51
age of son, Swmlﬁﬁmﬁmw%?
(A) 10 years (A) 1034
(B) 13years : (B) 1394
(C) 12 years ©) 1234 f
(D) None of these _ : .
(D) T & Frd 7k
35. If2isazeroof omial p(x) = |
t(hen value of ?;‘:n Sib p(X)_4§E+2x_5al e gﬁg mp_ghttx’ :!-2x-—5a$ﬂ!’m"!1=!r
A) 5 (8) 4 : '
A) 5 :
i, o (©) -4 58 :))Ksm _ o) 4
%. ;haes Hz;v;r;a \unicipalty (Amendment) ill | 36, efmmsr s (S Riws.
A 2014 during the yegr - 9 &F e i R
A (B) "2015 - (A) 2014 . (B)-2015
) 2016 (D) 2017 (C) 2016 (D), 2017
7= J

rame—" 5
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Ar2gie ) ! eioﬁowingsate 50 years of e | ogd o6 @ | < g Stk
7. Consider th 5 ars in Iy
3 one o was serte? ye . ﬁs’ﬁgﬁmzﬁmmm
; ‘mpnson dcarfied lla_ IE”EI ” IEI} ﬂg—qm ainﬁ.aa ]
Andar diedin Eng'a’-‘fiﬁ?,s there ghifereprt) T faferert < | g
o. He‘ §S ary a ! dan I 3. aféia @wmﬁ%
omurmlﬂf H?;rda "Qtf g FaT FE | ST v
tsel a §
]Dhingrta. r:ad orga ation calle ﬂfﬂffﬁa aiﬁé:%
E:h:;v pharat s0¢1€ " (A) ™ fergrdi
grsonalty referred Nere 8 . 2.3
iy F;‘eash gihari BOS® (C) S i 1
( )) v. D. Savar r (D) 9 J414 fafas ‘
o) Lala J.aJ'JDﬁlf':i :g;il
(0) Ram Prasa A v e =T ForeRe B - g g
Find the termwhichis different o below. afis?
ir ihree among the four options given (A) HE (B) =S
(B e (D) T
(A) Ink ¥ (C)
() Penci (0) Coo . -
9. Bhuteshwar temple is situated in the [ 39. f@‘ﬁl‘(ﬂﬁ"ﬁ @H%I
- 3 dstictol - - (A) firari (8) Sfie
A) Bhiwani ind el (D) 9rfiug
((C; Jajiar (D) Panipat © )
40. Bugyals, aunique type of vegetation found |  40. HTCT, femrera & Wt ST aeht w s
in Himalayas is the Y 1 Tl 8
(A) Summer grasslands in the Himachal
region (A) femrer &= oty ar@ & Agm
(B) Summer grasslands in the Sikkim
Himalayas (B) Riferm fewmera o wfien e % Hem
(C) ﬁummergrasslands inthe Arunachal 3 -
imalayas (C) e fearerg 1 1ty a9
(D) Sumrr::r grasslands in the Eastern 0) 3 e
mountains qRIfeat o sy grg
41. The solutions of system of equati
quatio
:Jrce+by-a+b=0andbx_ay_an_sb=o 41. g ax+by—a+b=03Nbx-ay-
() x=a+b,y=a} 8=b= 0% yueh % &
B) x= - T
= B) x=
) xx iy B) x= -a4b,y=—ap
C)~x=
J _( ) 2x =l y=-1
(D) X — 0’ y = 0
-8.
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42. f=fafaa i wd w7 Eﬁl{l
L (A) T e 9 gl w9 ¥ wEeiE] 9
ctly | S e & forg fsft wa €1

() FETERgz Nt # wmEsE % w9
 eifw Ed #
(C) =TEL | TFHIS T+ I wARE
st % R siem Tt w3
SqqEfea F WA A gl W
Hyerau 81
verel w1 g & fere wreet gee
g AT SAGICEh i HREal ¥
GIESICR]

1 Y H-T1 s R 7

1 I T A= Wi wireh

ST 1 T & Heiferg &

09 T WA TR

¥TC GO T < STEUT e &

19 T TRT T AAfaforam 3 2y
ﬁmaﬂtmmﬁ

7 A Y T arffy
""%ﬁ*“ﬁﬁwaﬁmﬁ;

5. MQ, 2,
5 AE, HL, 08, vz & TR (7) I
(A) TX

B
© T2 s s
B 51 51 ey &

(A) =g
(B) wirag ey

©) Tg¥
(D) fit
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. 7. JZEP"
a budget for 2017-18 was

o Minister (B) Chief Minister
iicer (D) Home Minister

s following with their pairs.

= 1. Blanket of air which
surrounds the earth
s 2. Domain of water
e 3. Gravitational force of
the earth
4. Our surroundings
5. Narrow zone where
land, water and air
interact

9. Relation between the
organisms and their
surroundings

(A) 1,1,2,2,3.,3. -

(B) 0.3, 0.33,0.333, ...
11 19

© 248"

(D) 3,12,v27, V48,
49. 2017-18 FieTC ehEmM T 557

e

g1 9 W T@ M|

(A) forel (B) TN
(C) et (D) et

50. frefeifiad i 37e i & firemsu)

| iz 1, g eTaRaRCE

a'l'ﬂiﬁ'fm
II. IrHe 2. A H WA

. Sowed 3. Yl R e

V. wfatur 4. TR =T 3

5. G &, STel o, 31
R arg ==
CIORS
6. Sfiat 3 37 9w 3R
% o9 gag
I AT
(A) 1-2 11-5 M-3 IV-6
B) I-5 11-6 Il -1 V-4
C) 1-1 -4 m-2 v-3
O) 1-5 -1 m-2 |v-4

(A) T&SH T a1 ST

(B) =AM = yam @
(C) e =1 ar &mrr
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Find the missing number in the sequence
52. 4,9, 16, 25, 36, 7

(A) 47

() 72

(B) 49
(D) None of these

Prithviraj Raso was written by !
(A) Sursagara (B) Chand Bardai
(C) Panipath (D) Geethagovinda

53.

54. What are the values of y if the distance
between the points (2, y) and (— 4, 3)is 107

(A) 11and-5 (B) 2and3
(C) Oand 1 (D) None of these
55. Kavi Maldevwasa - poet
of Haryana.
(A) Sanskrit (B) English
(C) Urdu (D) Hindi
56. The capital city of Haryana is
(A) Ambala (B) Chandigarh
(C) Rohtak (D) Karnal

57. A certain number is 4 times the sum of the

digits. If 18 is added to the number, the digits

get interchanged. Then the number is

(A) 42 (B) 24

(C) 38 . . (D) None of these
- g R =

The non-metal which is

5. quid in'nature is

id ir

53.

54.

56.

57.
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61. An image formed by @

always _
(A) lllusionary image

(B) Virtual image
(C) Real image
(D) Reflection image

If August 27" was Monday , then 14" of that
month was on
(B) Tuesday

(A) Monday :
(C) Wednesday (D) Friday

62,

The state bird of Haryana is
(A) Peacock (B) Parrot |
(C) Pigeon (D) Black Francolin

63.

e governor of Haryana is appointed by

(A) Prime Minister (B) President

' (C) Chief Minister (D) People

65. Goddess Bhawani Amba temple is in
(A) Rohtak District (B) Manipur District
(C) Ambala District (D) Gurgaon District

66. Haryana is called as the
(A) Land of temples
(B) Land of flowers
(C) Breadbasket of India
(D) Pious state

67. Star monument is the Samadhi of
(A) Tarachandji Maharaj
(B) Narayana Swami
(C) Shivaji
(D) Govindh Singh

.

(A) Sandy soil waifrs
(B) Clay soil () }ﬂ?ﬁ?ﬁ 27
g) Loamy soi| : (B) R k&l
: (D) Mixture of sand and loam (C) ?Iﬂ'{q;m
(D) T 3
i R T fyspuy
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Choose the correct meaning of the underlined ¢
from the given options.

77. He is now a gentleman at large living as

best as he can.

(A) Dominating

(B) Atliberty

(C) A person without any serious occupation
(D) Ordinary and undistinguished

BN she was
78. A sensible man, as a rule, cares much for
public opinion. B
(A) Whatever may be the cost
(B) Whatever may happen
(G) In reality .4

(D) Usually
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i L 85. @m#mqmaq?ﬂn?m%?
(B
k<t (A) 3
| g g 3‘3 gg 86. zﬁaﬁiﬂ?ﬂ“w'wmw%
(W) 1-31 2_37 3-3 4-3 (B) i & ST
| B) 1-31 2-3 3-§ 4-3 (C) BT
© 1-; 2-% 3-am 4-3 (D) 3T Afewa e
D) 1-3 2- -A 4-3
Bebots g7. el F¢1 e ¥@ A H wEard H
80. Ef yeg 1 wgEA wA R frfeu)
O WL (o @ drd )
(B) =ireT =@ TE|
81. Tﬁﬁzﬁm'wmm%? (€) HI3 R < TE STl
((c; AR (‘;’ fﬁgﬂw (D) ©12 & e = WA
82, i uw e § A Y AT e | 88§+ S = T I W R ?
2 fter Aifer (A) Fog Y (B) VT E™Y
(A) STEETES G, FHHERS, T, (c) < afy (D) gfg=fE
UFaEA
(B) T, TR, Shfem, v 89. TEl UF WIed % U ¥ aferm g
(C) foaras &, watwre, Hifam, F EER AR ?
e (A) WY
(D) SAfaFqaras |4, m, ﬁ‘lﬁm, (B) ECaicT
lCEC
(€) ¥+
83. R &7 vyt wig 2
(A) ¥ (B)
(C) 3w (D) FTe -
B4, fwfciftad 3 & ‘a1 1 i wree 7T &
(A & (B) =i
©) g (D) =T
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L C__.A D00 e B‘B__CvC.B @
_,_______
i [ |
T
nrnmn_m;muuuuu
NNREANNN
EREERREREREE
C_AJ.A_C_D_B“_BC_BDN_E_AC
_.? HHEHE
.,_ *_.___ :
R'BIR[B[5|82(3]8 8588 ¢

Download from www.MsEducationTv.com



